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Time : As in Programme
Full Marks : 100
The figures in the night-hand margin indicate marks.

Answer qdésﬂons as directed in each Section.
Section -A
Answer any five questions : 12x5 = 60

1. Explain the factors which a Cost Accountant
should consider before installing a costing
system in a manufacturing concem.

2. What do you mean by Nomal Process Loss and
Abnormal Process Loss ? How is the value of
abnomal loss determined ? Explain.

3. What do you mean by Budget and Budgetary
Control ? Explain the objectives and features of
Budgetary Control System.

JV-2/8 (Tumover)



5.

Explain, with examples, the three control ratios -
used for performance evaluation.

A single product company sells its product at
< 60 per unit. In 2006, the company operated at a
margin of safety of 40%. The fixed costs
amounted to X 3,60,000 and the variable cost
fatio to sales was 80%. In 2007, it is estimated
that the variable cost will go up by 10% and the
fixed costs will increase by 5%.

Find the selling price required to be fixed in 2007
to eam the same P/V ratio as in 2006. Assuming
the same selling price of ¥ 60 per unit in 2007,
find the number of units required to be produced
and sold to eam the same profits as in 2006.

M/s XYZ Limited manufactures a component “R".
The budgeted production and standard labour

cost for a month were :
Budgeted Production — 4,000 units.

Standard Labour Cost per unit : 1 % hours @
¥ 4 perhour —X 6.
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Actual results for the month were :
Production 3,900 units
Wages < 27,000

During the month 30 workers were employed
who were on duty for 8 hours per day for 25 days.
However, during the last week of the month each.
worker renamed idle for 4 hours as a result of
machine breakdown because of poor
maintenance.

Calculate :

(a) Labour Cost Vanance

(b) Labour Rate Variance

(c) Labour Efficiency Variance

(d) Labour idle-time Variance -

7. A coke manufacturing company produces the
following products by using 5,000 tonnes of coal
@ X 15 per tonne into a common process.

Coke —3,500 tonnes.
Tar —1,200 tonnes.

_ Sulphate of ammonia — 52 tonnes.
Benzol — 48 tonnes.

Apportion the Joint Cost among the products on
the basis of the physical unit method.
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8. The following data relates to the manufacture of a
standard product during the month of July, 2013 :

Raw Material — ¥1,80,000.

Direct Wages — ¥ 90,000.

Machine hours worked (hours) — 10,000.
Machine hour rate(per hour) — 8.

Administration overheads — 10% of workes
cost.

Selling overheads — ¥ 5 per unit.
Units produced — 5,000.

Units sold — 4,600.

Selling price per unit — ¥ 125.

You are required to prepare a Cost Sheet in
respect of the above :

(a) Cost per Unit
(b) Prqﬁt for the month of July, 2013

Section -B
Answer any four questions : 6x4 = 24

9. Explain the importance of Cost. Accounting to
business.

10. Briefly explain the various elements of cost.
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1.

12.

13.

14.

15.

16.

17.

18.

Explain the causes leading to a discrepancy
between Budgeted and Actual Performance.

What is marginal costing ? Discuss various
merits and demerits of marginal costing.

A company sells its product at¥ 15 per unit. In a
period, if it produces and sells 8,000 units it
incurs a loss of ¥ § per unit. If the volume is
raised to 20,000 units, it earns a profit of ¥ 4 per
unit. Calculate break-even point both in terms of
rupees and in units.

What are the preliminary steps are required for
introducing a standard costing systems in a
factory ? Elaborate.

Secﬁoﬁ -C
Answer any eight questions : ZXé =16
Define the term key factqr.
What is Marginal Cost ? |
How to calculate margin of safety ?

What is flexible budget ?
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19.
20.
21.
22.
23.

24,

JV - 2/6 (500)

Define the term Cost Unit.
What is Cost ?

What is Abnormal Gain ?
What is by-product ?
What is Sunk Cost ?

What is Balanced Scorecard ?
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